Virginia High School League

Scholastic Bowl, 2002-03 season

District Competition, Match #6

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine and Christopher Moretti are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
For 10 points, what empire ruled from its capital at Nineveh (nih-NEH-veh)?

ANSWER: ASSYRIAN Empire

2.
The Tamil Tigers have recently reached an agreement with the government of, for 10 points, what country whose capital is Colombo and which is an island located to the southeast of India?

ANSWER: SRI LANKA (prompt on Ceylon)

3.
THIS IS A COMPUTATION QUESTION. A trapezoid has an upper base of 6 and a lower base of 16.  For 10 points, if the area of the trapezoid is 44, what is the height?

ANSWER: 4

4.
For 10 points, what novel by Irene Hunt has a title that refers to the beginning and ending month of the Civil War?

ANSWER: ACROSS FIVE APRILS

5.
For 10 points, what type of orbit has the satellite remain above the same place on the Earth’s surface?

ANSWER: GEOSYNCHRONOUS
6.
A 1791 excise tax angered residents of western Pennsylvania, who attacked federal agents that tried to collect the tax. In response, President Washington ordered an army of 13,000 to restore order, leading it himself for a portion of the journey. For 10 points, what was this rebellion, named for the item being taxed?

ANSWER: WHISKEY REBELLION
7.
For 10 points, what word is used in French instead of tu when speaking with someone with whom you are unfamiliar?

ANSWER: VOUS (voo)

8.
Though he published a 1953 paper mistakenly describing DNA as a triple helix, he earned a Nobel Prize in Chemistry for developing a series of rules governing the formation of chemical bonds.  However, for ten points, what scientist is even better known for his activism, winning the 1962 Nobel Peace Prize for his efforts in controlling the spread of nuclear weapons?

ANSWER:  Linus PAULING
9.
They generally contain a start and end date, the rent and other costs, how payments should be made, any restrictions on the use of the property and any penalty on the early termination, or breaking, of the contract. For 10 points, what are these contracts that refer to the borrowing of a new car and to the renting of an apartment?

ANSWER: LEASE
10.
For ten points, what underworld area did Cerberus guard?

ANSWER: HADES (HAY-deez) (accept “underworld” until mentioned)

11.
 It begins and ends with the compound oxaloacetate, and it also produces both carbon dioxide and ATP.  For ten points, what series of chemical reactions discovered by a German biochemist enables respiration in organisms?

ANSWER:  KREBS CYCLE (or CITRIC ACID CYCLE or TRICARBOXYLIC ACID CYCLE)

12.
Secretary of the Interior Albert Fall convinced the Navy to let his department administer naval oil reserves in Wyoming and California. Fall then leased the oil reserves to companies that gave him kickbacks. For 10 points, this led to what scandal that eventually discredited the Harding Administration?

ANSWER: TEAPOT DOME
13.
Xander Cage steals a Senator’s car and destroys it. An NSA agent promises to clear Cage’s record if he spies on the leader of Anarchy 99. Much destruction follows in, for 10 points, what summer release starring Vin Diesel?

ANSWER: xXx (triple-X)

14.
Shannon O’Brien and Mitt Romney are squaring off for the governorship of, for 10 points, what state where Jane Swift is currently governor and where Michael Dukakis was the last Democratic governor?

ANSWER: MASSACHUSETTS
15.
Invading Martians overwhelm the British, but die because they cannot resist bacteria in, for ten points, what science fiction novel by H.G. Wells, chillingly adapted for the radio by Orson Welles?

ANSWER:  The WAR OF THE WORLDS
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
What Australian actor starred in the movies Mad Max, Braveheart and The Patriot?

ANSWER: Mel GIBSON
1B.
Who wrote the novel, The Pilgrim’s Progress?

ANSWER: John BUNYAN

2A.
THIS IS A COMPUTATION QUESTION. What is the value of 7! (seven factorial) ?

ANSWER: 5040
2B.
What is the term that refers to a chemical reaction where heat flows out of the system?

ANSWER: EXOTHERMIC
3A.
What is the subordinating conjunction in the following sentence? “Because we had no money, we did not go out for dinner and dancing.” 

ANSWER: BECAUSE
3B.
What is the capital of Nevada?

ANSWER: CARSON CITY

4A.
The liver, kidneys, and sweat glands are used as principal organs in what process, the removal of waste products by living organisms?

ANSWER:  EXCRETION (or EXCRETORY process)

4B.
Hillary Rosen is the president of what organization dedicated to fighting music piracy?

ANSWER: RIAA or RECORDING INDUSTRY ASSOCIATION OF AMERICA
5A. 
The famous statue of four men hoisting an American flag is part of the memorial of what World War II Pacific battle?

ANSWER: IWO JIMA (ee-who JEE-muh)

5B.
THIS IS A COMPUTATION QUESTION. What is the difference of the three digit numbers 4A6 and 3B5 if B is two more than A?

ANSWER: 81
6A.
What massive nocturnal group portrait by Rembrandt depicts a company of guards?


ANSWER:  The NIGHT WATCH
6B.
What word means either to spend time lazily and aimlessly or to a shaped mass of food cooked in one piece, such as bread or meat?

ANSWER: LOAF
7A.
THIS IS A COMPUTATION QUESTION. What is the equation of the line between the points (3,8) and (8,3) in slope intercept form?

ANSWER: Y = -X + 11
7B.
In which form of symbiosis does one organism benefit, while the other is unaffected?

ANSWER:  COMMENSALISM
8A.
In Sir Walter Scott’s Ivanhoe, what is the name of either of the two prominent women in the story, one a Saxon princess and the other the daughter of a Jewish money-lender?

ANSWER:  ROWENA OR REBECCA of York (EITHER ANSWER acceptable)

8B.
According to Freud, what part of the personality served as the “referee” between the id and the superego?

ANSWER: EGO
9A.
What Boolean operator is expressed in C++ by placing two ampersands consecutively? 

ANSWER: (logical) AND
9B.
Catholic canon law requires at least three members in order to establish what closed religious sanctuary where nuns primarily reside?

ANSWER:  CONVENT
10A.
It was created by Alexander I and included Emperor Francis I of Austria and Frederick William III of Prussia. What was this alliance created after the downfall of Napoleon?

ANSWER: HOLY Alliance

10B.
What is the minimum number of points required to create a plane?

ANSWER: THREE
Third period: 15 tossups
1.
Ten young Florentine noblemen and women each tell ten stories over ten days, thus accounting for the 100 tales in, for 10 points, what late medieval masterpiece by Giovanni Boccaccio (boh-KA-chee-oh)?

ANSWER:  The DECAMERON
2.
For 10 points, who wrote The Masque of the Red Death and The Raven?

ANSWER: Edgar Allan POE
3.
The first was based in Calvinist theology, and was led Gilbert Tennent and George Whitefield beginning about 1720.  The second, based on Arminianism, was led by Charles Finney during antebellum times.  For ten points, what common name was given to these two periods of Protestant religious revival, the first also involving Jonathan Edwards?

ANSWER:  GREAT AWAKENING
4.
Mount Mansfield is the largest city in this state, the only landlocked state in New England. Its largest city is Burlington. For 10 points, what is this state whose capital is Montpelier?

ANSWER: VERMONT
5.
For ten points, what era saw the extinction of the dinosaurs at its end, 65 million years ago?

ANSWER:  MEZOZOIC Era

6.
For ten points, what mural protesting the bombing of a Basque city during the Spanish Civil War did Pablo Picasso complete in 1937?

ANSWER:  GUERNICA (GAIR-nee-ka)

7. 
It was created in the late 1940s when the Afrikaner National Party gained power. Laws such as the Population Registration Act and the Bantu Authorities Act were passed to further White control of South Africa. For 10 points, what was this system of racial separation in South Africa that was ended by the all-race elections of 1994, which saw Nelson Mandela emerge victorious?

ANSWER: APARTHEID
8.
 For ten points, what natural phenomenon is studied by a seismologist?

ANSWER:  EARTHQUAKEs

9.
The title character meets Tanis Judique, an attractive widow, and has an affair with her. When he realizes that Tanis and her friends are just as rigid and conformist as he fears he is, he breaks things off with Tanis and gets back with his wife, Myra, realizing rebellion at his age is silly, but that his son, Ted, can follow his dreams. For 10 points, this is a summary of what novel by Sinclair Lewis?

ANSWER: BABBITT
10.
For ten points, if a parent heterozygous for a trait mates with a parent homozygous recessive for a trait, what percentage of the offspring will be heterozygous for that same trait?

ANSWER:  50%

11.
For 10 points, what process which uses an electric current to cause the breakup of a compound and the movement of metal ions?

ANSWER: ELECTROLYSIS 

12.
His original first name was Sherringford, and he appeared in novels such as The Sign of the Four, The Valley of Fear, and The Hound of the Baskervilles.  For ten points, the evil genius Moriarty often proved a formidable foe for what Arthur Conan Doyle sleuth?

ANSWER:  SHERLOCK HOLMES
13.
THIS IS A COMPUTATION QUESTION. A group of 10 men includes 4 bearded men, 6 dark haired men, and 3 dark haired bearded men.  For ten points, how many are dark haired, bearded, or both?

ANSWER: 7 (4 + 6 – 3)

14.
Ford Sterling was the leader of this group, who made their debut in a two-reeler in 1914.  Featuring zany slapstick antics, Mack Sennett created and directed, for ten points, what group of bungling silent film police officers?

ANSWER:  KEYSTONE KOPS
15.
For 10 points, what general had his greatest victory at New Orleans against the British?

ANSWER: Andrew JACKSON
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
The Universe consists of the first ten non-negative integers (i.e. 0 through 9).  Set A consists of {1, 2, 3, 4} and set B consists of {0, 2, 4, 6}.  For 10 points, what is the intersection of A and B?

ANSWER: {2, 4}

2.
Most magazines fold because of low sales or big losses. However, this profitable, high-selling magazine folded in September when its namesake tried to turn it into a platform for her political views, leading to a fight with her publisher. For 10 points, who is this former talk show host that has dropped her “queen of nice” persona in favor of a harder-edged comedy act?

ANSWER: Rosie O’DONNELL
3.
For 10 points, what was this family that ruled over Florence between the 15th and 18th centuries?

ANSWER: di MEDICI

4.
Most of the time, these objects are just small lumps of ice with very large orbits. However, when they come close to the Sun, they develop a bright outer layer of gas and ionized particles called a coma, and then develop one or even two “tails”. For 10 points, what are these objects, examples of which include Kohutek and Halley’s?

ANSWER: COMETs

5.
For 10 points, what word refers to a magical incantation or to say or write the correct arrangement of letters in a word?

ANSWER: SPELL
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